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1. XORXRZHESRE L. (SHE15208, A1 50%, B#K245308, C#3530%)

(1) 422 +8x—12 (2) —22+ bay + 692
(3) 1622 — 36y (4)  az? —4daz —32a
(5) —2az? — 4ax + 30a 6)  a2z? — b2

(7) %az‘*‘%a—l 8) 2*—y*-—z+y
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2.

ROXZNE R L. (SH15208, Af15750F, B#24730%, C#345307% )

(1) 622 + 24x — 72

(3) 3622 — 912

(5) —6azx? — 12ax — 6a

) %cﬁ — %a -1

(2) —a? — 5ab + 6b>

(4) abz? — 20abz — 44ab

(6) a?b?c? -1

(8) 22 —y?—zx—y
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SR

RORZNERE X, (SH15720%, Af14750%, B#2430%, C#34530%)

* RDICRADTE T 3.

(1) 42?48z —12

=4(2? 4 2z — 3)
=4(x+3)(x—1)

(3) 1622 — 3692

= 4(42% — 9y?)
= 4(2z + 3y) (2= — 3y)

(5) —2azx? — 4ax + 30a

= —2a(x? + 2z — 15)
= —2a(x 4+ 5)(x — 3)

1o, 1
(7) 8a+4a1

a®+2a — 8

_ (a+4)(a—2)

(2)  —a2+5zy + 6y

= —(2* — bay — 6y°)
= —(x + y)(x — 6y)

(4) az? — dax — 32a

= a(z? — 4z — 32)
=a(x+4)(x — 8)

(6) a2a? — b2y?

= (az)? — (by)®
= (az + by)(az — by)

(8) 22—y’ -4y

=@+y)(z—y) —(z—-y)
=(x+yA-—A
=A{(z +y) -1}
=(xz—-y)(z+y—1)
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2. RXROXZRESHEX. (SH1520%, Af1550%, B#h2530%, C#H345 308 )

(1) 622 + 24z — 72

= 6(2? + 4z — 12)
=6(x +6)(x—2)

(3) 3622 — 9y>

= 9(42? — y?)
—9(20 + y)(2x — y)

(5) —6ax? — 12ax — 6a

= —6a(z? + 22+ 1)
= —6a(x + 1)?

8 4
:a2—§a—8 (_@63\
_ (a+2)(a—4)

8

(2)

(4)

(6)

(8)

—a? — 5ab + 6b>

= —(a® + bab — 6b?)
= —(a+6b)(a —b)

abx?® — 20abx — 44ab

= ab(x? — 20z — 44)
=ab(x + 2)(x — 22)

a?b?c? — 1

= (abc)? — 12
= (abc 4+ 1)(abc — 1)

22—y -z —y

=(r+y)(z—y) - (z+y)
=Alx—y)—A

=A{(z —y) -1}

=@ +y{(z—y) -1}
=(z+y(z—y—1)
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